Best model for HELP J143425.742+343451.895 at z = 0.277 x2=5.29
OPTx2=3.31 IR¥?=17.81 threshold (OPT IR)=10.22 [um]

102 E . Stellar attenuated
i 2 Stellar unattenuated
1 . —— Dust emission
10! E . [P[] —— AGN emission
] . = Model spectrum
0 1 : ® Model fluxes
10 E : [ Observed fluxes
> a-1 ] :
= 107" 3 :
S E :
) ] m:
51072 4 | -
[T ] A -
] ey "y e
1073 4 R
10—4 4
bad
-5 |
A0 13
= ] ==f=(Obs-Mod)/Obs
3 —k
n
& o+r---pHMH--Ap-------A---f--m—mm -
o ]
) ]
2 1
S ]
& 100 10! 102 103 104 A

Observed wavelength [um]



